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270& 4,000 0K 1,080
O&¥st: Z20d FANE= 200,000& 128 2,400
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= 500,000
J| 27,000
iy 165,600
401 Al HIL 200 692,600 0 692,600
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SIS FOUXJAY FRFA 4,000
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= 9,800
= 9,800




2N
X ZH -
L= B

el

=]

4> 4>
= Aoy
M H A0
0z

1>
1]
=
x
Jin
g
fon
=

ir
x

CHE - EI(BA) - NRAY - BYS

=
i

2

307 21201 A

EURLY

9,600

4,800
4,800

9,600

02 2

v
0
0
T
Y

O
Qﬂ
£
4>
]
1]
o
s

deldsd

800,000 x1H 128

M

9,600

9,600

4,800
4,800

9,600

401 AIEHIZ 2 THYI

M

10,000

5,000
5,000

10,000

01 Al

oz
=

o
vz
o
S
H0
O

EUNE

10,000

10,000

5,000
5,000

10,000

St=ZLHelAd XA (=EMEESEFIAH)

U]

7,630,200
5,369,000

716,400
752,500
792,300

2,139,998

5,490,202

NSt elAlE EXALE

H A

,400,000
1,680,000

360,000
360,000

707,142

1,692,858

401 AIEBIZ S CHYI

U AT

,400,000
,680,000

360,000
360,000

707,142

1,692,858

01 A€ dl
O&tMGt=HelAlE &XIAt

11

02 2feldl

O&tNGt=HMelAlE &XIAY

03 Al€ 2 H

OdttMGt=XelAlE & XAt

—_

MW

H

,268,500
,268,500
,680,000

230,500
358,000

129,500
129,500
129,500
2,000
2,000

663,096

41,046

3,000

1,605,404

88,454

A 1,000

HGt=X el AlE EX ALY

HH A

,616,000
,831,000

392,500
392,500

767,142

1,848,858

401 AIEHIZ 2 I

—_

HH A

,616,000
,831,000

392,500
392,500

767,142

1,848,858

(&)




=
= L
=T LHeAE XML (=EHEELESA)

CB SR (B) - KIRAY - BES Ol &+ o4 SSa HmEET
01 A& HI 2,514,000 719,600 1,794,400
Ogidot=HelAlE XA 2,514,000
= 1,831,000
< 292,500
[ia 390,500
02 Zeltl 100,000 44,542 55,458
Oygaot=HMelAld EXAY 100,000
< 100,000
03 Al =2 THHI 2,000 3,000 A 1,000
Ot =Hel A8 & XA 2,000
HESHelANE AXAS 2,614,200 665,714 1,948,486
2 1,858,000
J| 716,400
s 39,800
401 AlEHIZL 2 THHI 2,614,200 665,714 1,948,486
= 1,858,000
J| 716,400
[ia 39,800
01 A& Hl 2,211,087 624,083 1,587,004
O dEot=HM2AlE XA 2,211,087
= 1,858,000
J| 315,287
[ 37,800
02 2feldl 401,113 38,631 362,482
O d&St>=HAAIE XA 401,113
J| 401,113
03 Al 20 HI 2,000 3,000 A 1,000
O&dEdt=HelAlE XA 2,000
ARs7o el (+RMLSESIH) 168,587 156,703 11,884
< 89,838
e 78,749
St ARESFY 22 40,247 28,363 11,884
201 L2l 35,247 25,363 9,884
01 At 22l 21,952 10,540 11,412
OaxdA2sRAY MrYlless 2Y
9003 »5& «173M Ch«12& 9,342
OEFNE OHth ¢ 2,000& *1,000& 2,000
OsEE Sdte MY 60,0003 »15& 900
OEHZY 200, 0002 *57H 1,000
O=AEX 7Y 21,0003 202t A 420
OANEES #¥ 300
Odz=3Es72Y QU E 2= 170,000 «47H 7,990
02 =24l 13,295 14,823 A 1,528
Oax=JAE57Y 2AXE KX 22l 8,384




SN BPAYD
Hu: 2EER
Sel: MLRESRY e (LEHLSHEH) (el @ e)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
— 42 AAANY RSH(ZR)
1,850% %2202| £ * 122 4,834
—ASHEBAIY FERX 2L 2,500
— AN MAHMBDS 1,000
OnIS5H+= MANBSAZ(RUS &4S) 4,911
—~®II23 171,620% « 128 %24 & 4,119
—s483 33,0008 =128 204 £ 792
202 04 | 5,000 3,000 2,000
01 201t 5,000 3,000 2,000
OM+8E57Y NE - 2%
20,0008 =22 »1253 5,000
FoAya® N0l ALY 128,340 128,340 0
= 89,838
2 38,502
101 Q124 128,340 128,340 0
< 89,838
2 38,502
04JIAMIERSES 128,340 128,340 0
Ozoa+8 Nl 128,340
-Jl=3 40,2009 %1202 * 18 86,832
= 86,832
-s3sysy 40,2008 *302! 182 21,708
< 3,006
2 18,702
- 282 19,800
YL (BYAMD) 76,237 73,927 2,310
oletegHl(+RMLSE3H) 76,237 73,927 2,310
LR ELREE] 76,237 73,927 2,310
101 @124t 76,237 73,927 2,310
03 RIH %22 RHE 76,237 73,927 2,310
Oa+8257% 20|58 24 76,237
-Jlza 1,154, 7409 « 128 »2% 27,714
—olgay 862, 3702 43| x2% 6,899
-832+9 862, 37021 x25| +2% 3,450
. EEEE 862, 3702 53| x2% 8,624
— WXL 40,0008 122 +2% 960
—JtErg 20,0008 +128 «3% 720
—Sageay 90,0008 122 +2% 2,160
—ZemYay 70,0008 128 x2% 1,680
— o galyl 160,0002! 128 *22 3,840
— O3 2 X4 10,0002 128 »2% 2,640
— DS2 XY 140,0002! 128 *22 3,360




— O]
=
20 UIr
oF %
R0 =
W Rl

oh —

<

no

Klo

E

E=]

WH3r

uilEd

RS
O O ©O© N <t
< < OO AN oo
-~ ® Ao
< o~ —

aor

<

=
0 B0 B0 B0 B0
Al ANl —
x X X X X
o @ W ol o

or |~ N o ¥
- X x X =

O R T

B | © o o &
O NN~ 1 O M~

. < ¥ 7= s

I R

< |-

I+

=

= 0

= < oo 0

o |5 o < <k

%u}l:_a_..crow

&) ok o3 ) <k Wor
U =)

S [ = S T =

ﬁm T

R

X

I+




N & o & AF & H Al A
A B3N AY A
Hu: Eol2 MR Hel
ol BMHS U BaXRd(FENESEE ) CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
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J| 1,148,973
e 1,320,675
HOI2 f8F Hel 1,973,300 2,201,873 N 228,573
Jl| 900,794
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ENHS 2 BaHel(SEHASEE ) 1,973,300 2,201,873 228,573
J| 900,794
s 1,072,506
N2 29 1,973,300 2,201,873 N 228,573
J| 900,794
s 1,072,506
101 1A bl 44,305 40,730 3,575
J| 22,154
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04 JIZHHZ2Z2XNESE S+ 44,305 40,730 3,575
OSETAAL A 29 & HA2e 13,579
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50,000 128 4,200
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i 340,875

01 At 22l 199,337 167,414 31,923
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J| 15,622
[ia 15,621
OX==CtAl ElHIEIH ===  550& *200,000% 110,000
OMf=EEaXelz A 24,000
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J| 2,875
e 2,875
— =2 H| 50,000& *3652 18,250
J| 9,125
s 9,125
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OSA gz 250,000 »12& 3,000
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J| 600
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OflHl AN E WA E 16,000& *3, 4004 54,400

J| 32,640
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J| 3,300
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OBOD 21571l Ol & 2,000
J| 1,200
[ia 800
Os=t 3,500
J| 2,100
e 1,400
HE2HAZH (BZETEA AL L) 496,348 477,593 18,755
J| 248,179
s 248,169
OHA2IEH(EMNLASEI A ) (=EMLSE S A) 496,348 477,593 18,755
J| 248,179
s 248,169
=2l AH42H 496,348 477,593 18,755
J| 248,179
s 248,169
101 @14 Hl 480,868 462,113 18,755
J| 240,439
s 240,429
01 2= 383,220 354,967 28,253
o= 239,884
— 6= 3,171,900& x1H x 123 38,063
J| 19,032
s 19,031
—7= 2,522,300& x1H x12& 30,268
J| 15,134
i 15,134
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J| 11,936
s 11,935
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s 9,226
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—xU2FE 20,751
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